Amana DH1140 08 - MOTOR AND SPIN PUMP ASSY

(¢)] A W0 N

© o N o

11
12

13

14

19

Amana Residential Amana DH1140 Washer Parts Parts Diagram 08 - MOTOR AND SPIN PUMP ASSY
Click on the part number to view part

Y10270
10272
10273
10274

10277

10181
10280
10279
10278

10276

10275
10271

A10110

Y2422

10277AB

Not Available
Not Available

Not Available

Not Available
Not Available
Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

MOTOR HOUSING
FAN

Motor

FLINGER

4" Acrylic 2 Handle Faucet
Low Lead

Hose, Drain
NUT,WING xREPLACE
WASHER

BOLT,J xREPLACE

IMPELLER 625-0034
XxREPLACE

GASKET & SEAL
SCREW

MOTOR AND SPIN PUMP
ASSEMBLY

CAP SCREW


http://www.pwslaundry.com/c-503246-residential-amana-dh1140-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10394010-amana-10273-washer-motor.html
http://www.pwslaundry.com/i-10396669-amana-10277ab-washer-4-acrylic-2-handle-faucet-low-lead.html
http://www.pwslaundry.com/i-10394236-amana-10181-washer-hose-drain.html

15
16

17
18
19
20
21

2431

10294
20747
20275
10111
10179
10180
21372

CR25X440

500824
27001225

21-372

Not Available

Not Available
Not Available
Not Available

440v Oval Run Capacitor
PAN HEAD SCREW

Screw, 1/4-20 Unc Hex

Nut, Jam Mid Lock 1/4-20
MOUNTING BRACKET
DRAIN TUB-TO-PUMP HOSE
CLAMP

Sampling Tube


http://www.pwslaundry.com/i-10396728-amana-cr25x440-washer-440v-oval-run-capacitor.html
http://www.pwslaundry.com/i-10393321-amana-500824-washer-dryer-screw-1-4-20-unc-hex.html
http://www.pwslaundry.com/i-10393323-amana-27001225-washer-dryer-nut-jam-mid-lock-1-4-20.html
http://www.pwslaundry.com/i-10396685-amana-21-372-washer-sampling-tube.html

	Amana DH1140 08 - MOTOR AND SPIN PUMP ASSY

